ACCESSORIZED BY

METEL

IS WWW. metec. ee

Paigaldusjuhend | Mounting instructions | UHcTpykuus no yctaHoBke | Montageanleitung 8645408

Scania R&S 2016- Low & Medium Bumper

Art. 864540, 864541 (with net)
Rammraud GRIFFIN Il | Truck cattleguard GRIFFIN Il | NMepeanasa gyra GRIFFIN Il | LKW Bullfanger
GRIFFIN Il

0 NOoO Ok O~

18
19
20
21
22
23
24
25
26
27
28
29
30
31

33

34

@ Medium bumper 35
@ Low bumper

Kaal / Weight / Macca / Gewicht: 70,6 kg

Paigaldusaeg / Time of mounting / Bpems yctaHoBku / Einbauzeit: 90 min

10 10 ®
(v
4 13 13 a0 G VA
17 17
S

All Rights Reserved by Tarmetec | www.metec.ee

. Rammraud / cattle guard / nepegHsaa gyra / Bullfanger
. Kronstein / bracket / kpoHwTenH / Konsole

. Kronstein / bracket / kpoHwTenH / Konsole

. Kronstein / bracket / kpoHwTenH / Konsole

. Kronstein / bracket / kpoHwTenH / Konsole

. Kronstein / bracket / kpoHwTenH / Konsole

. Kronstein / bracket / kpoHwTenH / Konsole

. Plaat / plate / nnacTtuHa / Platte

. Vinkel / langeled plate / yronbHuk / winkel

. Puks / bushing / 6ykca / Buchse

. Puks / bushing / 6ykca / Buchse

. Puks / bushing / 6ykca / Buchse

. Mutrikate / nut cover / konnak / Mutter Abdeckung M12
14.
4 15.
16.
17.

Polt / bolt / 6onT / Bolzen M6x16
Polt / bolt / 6onT / Bolzen M8x25 1
Polt / bolt / 6onT / Bolzen M10x35
Polt / bolt / 6onT / Bolzen M10x70
. Polt / bolt / 6onT / Bolzen M12x50
. Polt / bolt / 6onT / Bolzen M12x100
. Polt / bolt / 6onT / Bolzen M12x130
. Polt / bolt / 6onT / Bolzen M20x40
. Mutter / nut / ravika / Mutter M6
. Mutter / nut / ravika / Mutter M8
. Mutter / nut / ravika / Mutter M10
. Seib / washer / wanba / Scheibe 10,5x20x2
. Seib / washer / wanba / Scheibe 13x24x2,5
. Seib / washer / wanba / Scheibe 20x37x3
. Seib / washer / wanba / Scheibe 6,4x18x1,6
. Seib / washer / wai6a / Scheibe 8,4x24x2 1
. Seib / washer / wanba / Scheibe 10,5x30x2,5
. Seib / washer / warnba / Scheibe 13x37x3

A PR OPBEANNORAONNMNNPEAEANPAPONNEBENMNMNN_A A A A A A

32. Vedruseib / spring washer / npyxuHHas wariba /

N

Federnscheibe A8
.Vedruseib / spring washer / npyxuHHas wariba /
Federnscheibe A10 2
. Vedruseib / spring washer / npyxvHHas wariba /
Federnscheibe A12 4
. Vedruseib / spring washer / npyxuHHas wawba /
Federnscheibe A20 2

M6 - 11 Nm
M8 - 25 Nm
M10 - 50 Nm
M12 -90 Nm
M20 - 245 Nm
09.03.2017 1/5




Scania R&S 2016- Low & Medium Bumper
Rammraud GRIFFIN Il | Truck cattleguard GRIFFIN Il | Mepeanasa gyra GRIFFIN Il | LKW Bullfanger
GRIFFIN Il

Low bumper 9

Medium bumper
Low bumper

pos. 11+12 \%i\i ‘\O
H o

Medium bumper/ A
pos. 11 \@

All Rights Reserved by Tarmetec | www.metec.ee 09.03.2017 2/5




Scania R&S 2016- Low & Medium Bumper
Rammraud GRIFFIN Il | Truck cattleguard GRIFFIN Il | Mepegnsasa ayra GRIFFIN 1l | LKW Bullfanger
GRIFFIN Il

Medium bumper 10

All Rights Reserved by Tarmetec | www.metec.ee 09.03.2017 3/5



Scania R&S 2016- Low & Medium Bumper
Rammraud GRIFFIN Il | Truck cattleguard GRIFFIN Il | Mepeanaa gyra GRIFFIN Il | LKW Bullfanger
GRIFFIN Il

®
vy
|

Low bumper

Medium bumper 1

e Kui METEC toode ei vasta Teie ootustele vdi kui on tegemist toote ebapiisava kvaliteediga, siis pretensioonid esitada lehel www.metec.ee

e |f the METEC product does not meet Your expectations or if it is a product of insufficient quality, then you can submit a claim at www.metec.ee

e Ecnu METEC npogykT He cooTBETCTBYeT Balunm oxugaHusm unm ato NnpodykT HeAOCTaTOYHOro KayecTBa, TO NPETEH3MI0 NPpeabsBUTb MOXHO Ha caiTe www.metec.ee
e \Wenn METEC Produkt nicht Ihren Erwartungen entspricht oder wenn es um Qualitdtsmangel geht, dann bitte die Anspriiche auf Seite www.metec.ee einreichen

All Rights Reserved by Tarmetec | www.metec.ee 09.03.2017 4/5



Scania R&S 2016- Low & Medium Bumper

Rammraud GRIFFIN Il | Truck cattleguard GRIFFIN Il | MepeaHasa gyra GRIFFIN Il | LKW Bullfanger
GRIFFIN Il

Lisa /extra / npunoxeHue / Extra

\Medium bumper

Low bumper

All Rights Reserved by Tarmetec | www.metec.ee 09.03.2017 5/5



0vG¥98 suolsuswi(




